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QUESTION 1

Identify the formula based on which AD utilities provide the default number of workers. 

A. 2 * (the number of CPUs on the database server) 

B. 2 + (the number of CPUs on the database server) 

C. 2 * ( the parallel_max_servers initSID.ora parameter in the database) 

D. 2 + (the parallel_max_servers initSID.ora parameter in the database) 

Correct Answer: A 

 

QUESTION 2

Identify three situations where relinking may be necessary. (Choose three.) 

A. after running AutoConfig 

B. after the server libraries are updated 

C. after the product JAR files are generated 

D. when executable programs become corrupted 

E. when executable programs are accidentally deleted 

Correct Answer: BDE 

 

QUESTION 3

What are the two possible sequences of worker status while a job is being completed by a worker? (Choose two.) 

A. Waiting => Assigned => Running => Completed 

B. Assigned => Waiting => Running => Completed 

C. Waiting => Assigned => Running => Failed => Fixed, Restart => Restarted => Completed 

D. Assigned => Waiting => Running => Failed => Fixed, Restart => Restarted => Completed 

E. Waiting => Assigned => Running => Failed => Fixed, Restart => Restarted => Running => Completed 

Correct Answer: AC 

 

QUESTION 4

In Oracle Applications R12, where will you find information regarding minimum or required settings for database
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initialization parameters? 

A. applora.txt 

B. applprod.txt 

C. applcust.txt 

D. adconfig.txt 

E. appl.txt 

Correct Answer: A 

 

QUESTION 5

You are in the midst of applying a patch on an Oracle Applications system when AutoPatch reports that one of the
workers failed and that it requires you to fix this error before proceeding. Where would you get detailed information
about the cause of the worker\\'s failure? 

A. adpatch.lgi 

B. adpatch.log 

C. adwrkXXX.log 

D. adworkXXX.log 

E. adworkerXXX.log 

Correct Answer: D 
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